

Stochastic Orders Comparisons of Negative Binomial Distribution with Negative Binomial—Lindley Distribution

Chookait Pudprommarat, Winai Bodhisuwan

Department of Statistics, Kasetsart University, Bangkok, Thailand
 Email: chookait.pu@hotmail.com

Received January 20, 2012; revised February 18, 2012; accepted March 4, 2012

ABSTRACT

The purpose of this study is to compare a negative binomial distribution with a negative binomial—Lindley by using stochastic orders. We characterize the comparisons in usual stochastic order, likelihood ratio order, convex order, expectation order and uniformly more variable order based on theorem and some numerical example of comparisons between negative binomial random variable and negative binomial—Lindley random variable.

Keywords: Stochastic Orders; Negative Binomial Distribution; Negative Binomial—Lindley Distribution

1. Introduction

The negative binomial (NB) distribution is a mixture of Poisson distribution by mixing the Poisson distribution and gamma distribution. The NB distribution is employed as a functional form that relaxes the overdispersion (variance is greater than the mean) restriction of the Poisson distribution (see [1]). If X denote a random variable of NB distributed with parameter r and p then its probability mass function is in form

$$f(x) = \binom{r+x-1}{x} p^r (1-p)^x, \quad x = 0, 1, 2, \dots,$$

for $r > 0$ and $0 < p < 1$, with $E(X) = \frac{r(1-p)}{p}$ and

$$\text{Var}(X) = \frac{r(1-p)}{p^2}.$$

The negative binomial—Lindley (NB-L) distribution which is a mixed negative binomial distribution obtained by mixing the negative binomial distribution with a Lindley distribution. The NB-L distribution was introduced by Zamani and Ismail in [2] and it provides a model for count data of insurance claims. If Y is a NB-L random variable with parameter r and θ then its probability mass function is in form

$$g(y) = \binom{r+y-1}{y} \sum_{j=0}^y \binom{y}{j} (-1)^j \frac{\theta^2 (\theta+r+j+1)}{(\theta+r+j)^2},$$

$y = 0, 1, 2, \dots$, for r and $\theta > 0$, with

$$E(Y) = \frac{r\theta^3}{(\theta+1)(\theta-1)^2} - r, \quad \text{when } \theta > 1, \text{ and}$$

$$\text{Var}(Y) = \frac{(r^2+r)\theta^2(\theta-1)}{(\theta+1)(\theta-2)^2} - \frac{(2r^2+r)\theta^3}{(\theta+1)(\theta-1)^2} - \frac{r^2(\theta^3 - (\theta+1)(\theta-1)^2)^2}{(\theta+1)^2(\theta-1)^4} + r^2,$$

when $\theta > 2$.

In this respect, the aim of this work is to compare a negative binomial distribution with negative binomial—Lindley distribution base on stochastic orders such as usual stochastic order, likelihood ratio order, convex order, expectation order and uniformly more variable order.

2. Stochastic Orders

Stochastic orders are useful in comparing random variables measuring certain characteristics in many areas. Such areas include insurance, operations research, queuing theory, survival analysis and reliability theory (see [3]). The simplest comparison is through comparing the expected value of the two comparable random variables. The following, we will define some notions of the stochastic orders which will be used in the context of the paper. For more details, we refer to Ross [4], Misra [5], Shaked [6,7] and Singh [8].

Definition 1. Let X and Y be random variables with densities f and g , respectively, such that $g(k)/f(k)$ is non-decreasing function in k over the union of the supports of X and Y , or, equivalently,

$f(u)g(v) \geq f(v)g(u)$, for all $u \leq v$. Then X is smaller than Y in the likelihood ratio order which is denoted by $X \leq_{lr} Y$.

Definition 2. Let X and Y be two random variables such that $\Pr(Y \leq k) \leq \Pr(X \leq k)$, for all $k \in \mathbb{R}$. Then X is smaller than Y in the usual stochastic order which is denoted by $X \leq_{st} Y$.

Definition 3. Let X and Y be two random variables such that $E(\varphi(X)) \leq E(\varphi(Y))$, for every real valued convex function φ where expectations are assumed to be existed. Then X is smaller than Y in convex order which is denoted by $X \leq_{cx} Y$.

Definition 4. Let X and Y be two random variables such that $E(X) \leq E(Y)$, where expectations are assumed to be existed. Then X is smaller than Y in the expectation order which is denoted by $X \leq_E Y$.

Definition 5. Let X and Y be two random variables with densities f and g , respectively. Recall that $\text{supp}(X)$ and $\text{supp}(Y)$ denote the respective support of X and respective support of Y , such that $\text{supp}(X) \subseteq \text{supp}(Y)$ and the ratio $f(k)/g(k)$ is a unimodal function over $\text{supp}(Y)$. Then X is smaller than Y in uniformly more variable order which is denoted by $X \leq_{uv} Y$.

3. Comparison

We make comparisons between the negative binomial random variable and negative binomial—Lindley random variable with respect to the likelihood ratio order, stochastic order, convex order, expectation order and uniform more variable order. The following lemma will be useful in proving the main results.

Lemma 1. Define,

$$a(k) = 1 - \frac{\sum_{j=0}^{k+1} \binom{k+1}{j} (-1)^j \frac{(\theta+r+j+1)}{(\theta+r+j)^2}}{\sum_{j=0}^k \binom{k}{j} (-1)^j \frac{(\theta+r+j+1)}{(\theta+r+j)^2}} \text{ and}$$

$$\varphi_k(m) = \sum_{j=0}^k \binom{j+r-1}{j} m \left(1 - m^{\frac{1}{r}}\right)^j,$$

$\forall m, 0 < m < 1, k = 0, 1, 2, \dots$ Then,

- 1) $a(k)$ is a non-increasing function of $k \in \{0, 1, 2, \dots\}$,
- 2) For each fixed $k \in \{0, 1, 2, \dots\}$, $\varphi_k(m)$ is concave function of $m \in (0, 1)$.

Proof.

- 1) We may write for $a(k), k = 0, 1, 2, \dots$ that

$$a(k) = 1 - \frac{\int_0^\infty e^{-\lambda r} (1 - e^{-\lambda})^{k+1} h(\lambda; \theta) d\lambda}{\int_0^\infty e^{-\lambda r} (1 - e^{-\lambda})^k h(\lambda; \theta) d\lambda} = E(W_k),$$

where $h(\cdot)$ is the Lindley distribution defined by

$$h(z; \theta) = \frac{\theta^2}{\theta + 1} (1 + z) e^{-\theta z}, \quad z > 0 \text{ and } \theta > 0$$

and W_k is a random variable having the probability density function:

$$\psi_k(z) = \frac{(\theta + 1) e^{-rz} (1 - e^{-z})^k h(z; \theta)}{\sum_{j=0}^k \binom{k}{j} (-1)^j \frac{\theta^2 (\theta + r + j + 1)}{(\theta + r + j)^2}}, \quad z > 0.$$

For fixed $k \in \{0, 1, 2, \dots\}$, the ratio $\psi_{k+1}(x)/\psi_k(x)$ is obviously a non-increasing function of $x > 0$. Then, by Definitions 1 and 2, we have $W_k \geq_{lr} W_{k+1}$, which yields $W_k \geq_{st} W_{k+1}$ and therefore $E(W_k) \geq E(W_{k+1})$ or, equivalently, $a(k) \geq a(k+1)$. This proves $a(k)$ is a non-increasing function of $k \in \{0, 1, 2, \dots\}$.

2) For $k = 0$, note that $\varphi_0(m) = m$ is both convex and concave. For $k = 1, 2, \dots$, we can write

$$\varphi_k(m) = 1 - \sum_{j=k+1}^\infty \binom{j+r-1}{j} m \left(1 - m^{\frac{1}{r}}\right)^j, \quad \forall m, 0 < m < 1. \tag{1}$$

The relationship between negative binomial and beta probabilities is of the form

$$\sum_{j=k}^\infty \binom{r+r-1}{j} p^r (1-p)^j = \frac{(k+r-1)!}{(k-1)!(r-1)!} \int_0^{1-p} t^{k-1} (1-t)^{r-1} dt,$$

$k = 0, 1, 2, \dots$

Therefore, $\varphi_k(m)$ in Equation (1) can be written as

$$\varphi_k(m) = 1 - \frac{(k+r)!}{k!(r-1)!} \int_0^{1-m^{\frac{1}{r}}} t^k (1-t)^{r-1} dt,$$

$\forall m, 0 < m < 1.$

Thus,

$$\frac{\partial^2}{\partial m^2} \varphi_k(m) = -\frac{1}{r} \frac{(k+r)!}{(r-1)! r!} m^{\frac{1}{r}-1} \left(1 - m^{\frac{1}{r}}\right)^{k-1} < 0,$$

$\forall m, 0 < m < 1.$

which proves concavity. \square

Theorem 1. Let $X \sim \text{NB}(r, p), Y \sim \text{NB-L}(r, \theta)$ and

$$p_0 = \frac{(\theta+r+2)(\theta+r)^2}{(\theta+r+1)^3}, \quad p_1 = \left[\frac{\theta^2 (\theta+r+1)}{(\theta+r)^2} \right]^{\frac{1}{r}},$$

$$p_2 = \frac{(\theta+1)(\theta-1)^2}{\theta^3}. \text{ Then } 0 < p_2 < p_1 < p_0 < 1.$$

Furthermore,

- 1) $X \leq_{lr} Y$ if and only if $p \geq p_0$,
- 2) $X \leq_{st} Y$ if and only if $p \geq p_1$,
- 3) $X \leq_E (\geq_E) Y$ if and only if $p \geq (\leq) p_2$,

Proof.

1) The likelihood ratio order between Y and X can be written as

$$l(k) = \frac{\Pr(Y = k)}{\Pr(X = k)} = \frac{\sum_{j=0}^k \binom{k}{j} (-1)^j \frac{\theta^2 (\theta + r + j + 1)}{(\theta + r + j)^2}}{p^r (1-p)^k (\theta + 1)}, \quad (2)$$

$k = 0, 1, 2, \dots$.

By Definition 1, we have

$$X \leq_{lr} Y \Leftrightarrow l(k) \leq l(k+1), \quad \forall k, k \in \{0, 1, 2, \dots\},$$

$$\Leftrightarrow p \geq 1 - \frac{\sum_{j=0}^{k+1} \binom{k+1}{j} (-1)^j \frac{(\theta + r + j + 1)}{(\theta + r + j)^2}}{\sum_{j=0}^k \binom{k}{j} (-1)^j \frac{(\theta + r + j + 1)}{(\theta + r + j)^2}},$$

$$\Leftrightarrow p \geq a(k), \quad \forall k, k \in \{0, 1, 2, \dots\},$$

$$\Leftrightarrow p \geq p_0 = a(0).$$

Since $a(k)$ is non-increasing in k (by part 1) in Lemma 1), then $p \geq p_0$ which provides a necessary and sufficient condition for the $l(k)$ in Equation (2) to be non-decreasing. This completes the proof of the result.

2) Let $X \leq_{st} Y$ by Definition 2, we have

$$\Pr(Y \leq 0) \leq \Pr(X \leq 0) \Rightarrow p^r \geq \frac{\theta^2 (\theta + r + 1)}{(\theta + r)^2},$$

$$\Rightarrow p \geq \left[\frac{\theta^2 (\theta + r + 1)}{(\theta + r)^2} \right]^{\frac{1}{r}} = p_1.$$

Conversely, suppose that $0 < p_1 < p < 1$.

For $k = 0, 1, 2, \dots$, consider

$$\Delta_p(k) = \Pr(X \leq k) - \Pr(Y \leq k) = \sum_{i=0}^k \binom{i+r-1}{i} p^r (1-p)^i - \sum_{i=0}^k \left[\binom{i+r-1}{i} \sum_{j=0}^i \binom{i}{j} (-1)^j \frac{\theta^2 (\theta + r + j + 1)}{(\theta + 1)(\theta + r + j)^2} \right],$$

and if $X \sim \text{NB}(r, p)$ and $X \sim \text{NB}(r, p_1)$, then $X \leq_{lr} X_1$. Hence, we get $X \leq_{st} X_1$.

Consequently,

$$\sum_{i=0}^k \binom{i+r-1}{i} p^r (1-p)^i \geq \sum_{i=0}^k \binom{i+r-1}{i} p_1^r (1-p_1)^i,$$

and therefore $\Delta_p(k) \geq \Delta_{p_1}(k)$.

$$\text{For fixed } k \in \{0, 1, 2, \dots\}, p_1 = \left[\frac{\theta^2 (\theta + r + 1)}{(\theta + r)^2} \right]^{\frac{1}{r}},$$

$p = \exp(-\lambda)$ and $\lambda \sim \text{Lindley}(\theta)$. We get

$$\Delta_{p_1}(k) = \sum_{i=0}^k \binom{i+r-1}{i} p_1^r (1-p_1)^i - \sum_{i=0}^k \left[\binom{i+r-1}{i} \sum_{j=0}^i \binom{i}{j} (-1)^j \frac{\theta^2 (\theta + r + j + 1)}{(\theta + 1)(\theta + r + j)^2} \right],$$

$$\Delta_{p_1}(k) = \sum_{i=0}^k \binom{i+r-1}{i} E(P^r) \left[1 - (E(P^r))^{\frac{1}{r}} \right] - \sum_{i=0}^k \binom{i+r-1}{i} E(P^r (1-P)^i),$$

Using concave function (by part 2) in Lemma 1), $\Delta_{p_1}(k)$ can be written as

$$\Delta_{p_1}(k) = \varphi_k(E(P^r)) - E(\varphi_k(P^r)).$$

Applying Jensen's inequality to concave function, we have $\varphi_k(E(P^r)) \geq E(\varphi_k(P^r))$ and $\Delta_{p_1}(k) \geq 0$ for $\forall k, k \in \{0, 1, 2, \dots\}$. Conversely, where $X \leq_{st} Y$ implies that $\Pr(Y \leq 0) \leq \Pr(X \leq 0)$. This proves $p \geq p_1$.

3) The proofs of the results are obvious. \square

Theorem 2. Suppose that, for every $0 < t < 1$,

$\Pr(t < p < 1) > 0$, then

1) No value of $0 < p < 1$ can ensure that $X \leq_{st} Y$,

2) $X \leq_{uv} Y$ if and only if $0 < p < p_1 < 1$.

Proof.

1) We find $R(k) = \frac{\Pr(X \geq k)}{\Pr(Y \geq k)}$, $k = 0, 1, 2, \dots$, by re-

frying the numerator and denominator as following:

$$\Pr(X \geq k) = \sum_{j=k}^{\infty} \binom{j+r-1}{j} p^r (1-p)^j,$$

$$= \frac{(k+r-1)!}{(k-1)!(r-1)!} \int_0^{1-p} t^{k-1} (1-t)^{r-1} dt,$$

$$\leq (1-p)^{k-1} \frac{(k+r-1)!}{(k-1)!(r-1)!} \int_0^{1-p} (1-t)^{r-1} dt,$$

$$= \frac{(k+r-1)!}{(k-1)!(r-1)!} \frac{(1-p)^k}{r(1-p)}.$$

For any $0 < p < p_1 < 1$, $k = 0, 1, 2, \dots$,

$$\Pr(Y \geq k) = \sum_{i=k}^{\infty} \left[\binom{r+i-1}{i} \sum_{j=0}^i \binom{i}{j} (-1)^j \frac{\theta^2 (\theta + r + j + 1)}{(\theta + r + j)^2} \right],$$

$$= \sum_{i=k}^{\infty} \left[\binom{r+i-1}{i} \int_0^{\infty} e^{-\lambda r} (1 - e^{-\lambda})^i h(\lambda; \theta) d\lambda \right],$$

$$= \int_0^{\infty} \left[\sum_{i=k}^{\infty} \binom{r+i-1}{i} e^{-\lambda r} (1 - e^{-\lambda})^i \right] h(\lambda; \theta) d\lambda,$$

$$= \int_0^{\infty} \left[\frac{(k+r-1)!}{(k-1)!(r-1)!} \int_0^{1-e^{-\lambda}} t^{k-1} (1-t)^{r-1} dt \right] h(\lambda; \theta) d\lambda,$$

$$= \int_0^1 \frac{(k+r-1)!}{(k-1)!(r-1)!} t^{k-1} (1-t)^{r-1} \left[\int_0^{\log\left(\frac{1}{1-t}\right)} h(\lambda; \theta) d\lambda \right] dt,$$

$$= \int_0^1 \frac{(k+r-1)!}{(k-1)!(r-1)!} t^{k-1} (1-t)^{r-1} H\left(\log\left(\frac{1}{1-t}\right); \theta\right) dt,$$

Table 1. Stochastic orders comparisons of NB random variables with NB-L random variables.

Random Variables		Order Comparisons of NB Random Variables with NB-L Random Variables				
NB(r, p)	NB-L(r, θ)	Usual stochastic order	Likelihood ratio order	Convex order	Expectation order	Uniformly more variable order
	$Y_1 \sim \text{NB-L}(3, 1.5)$	$X \leq_u Y_1$	$X \leq_l Y_1$	-	$X \leq_E Y_1$	-
	$Y_2 \sim \text{NB-L}(3, 2.0)$	$X \leq_u Y_2$	-	-	$X \leq_E Y_2$	-
$X \sim \text{NB}(3, 0.8)$	$Y_3 \sim \text{NB-L}(3, 3.5)$	-	-	-	$X \leq_E Y_3$	$X \leq_{uv} Y_3$
	$Y_4 \sim \text{NB-L}(3, 4.5)$	-	-	-	$X \leq_E Y_4$	$X \leq_{uv} Y_4$
	$Y_5 \sim \text{NB-L}(3, 5.7)$	-	-	$X \leq_{cx} Y_5$	$X =_E Y_5$	$X \leq_{uv} Y_5$

where $H(\cdot)$ is cumulative distribution function of Lindley distribution:

$$H(z; \theta) = 1 - \frac{\theta + 1 + \theta z}{\theta + 1} e^{-\theta z}, \quad z > 0 \text{ and } \theta > 0.$$

$$\begin{aligned} \Pr(Y \geq k) &\geq H(p_1; \theta) p_1^{r-1} \int_0^{1-p_1} \frac{(k+r-1)!}{(k-1)!(r-1)!} t^{k-1} dt, \\ &= \frac{(k+r-1)!}{(k-1)!(r-1)!} \frac{H(p_1; \theta) p_1^{r-1} (1-p_1)^k}{k}. \end{aligned}$$

$$\text{So, } R(k) \leq \frac{k(1-p^r)}{r(1-p)p_1^{r-1}H(p_1; \theta)} \left(\frac{1-p}{1-p_1} \right)^k.$$

$$\text{Since } \lim_{k \rightarrow \infty} \frac{k(1-p^r)}{r(1-p)p_1^{r-1}H(p_1; \theta)} \left(\frac{1-p}{1-p_1} \right)^k = 0, \text{ we have}$$

then $\lim_{k \rightarrow \infty} R(k) = 0, \forall p_1 < p < 1$.

Therefore, it follows that, for any $0 < p < 1$, there exists a sufficiently large k such that

$\Pr(X \geq k) < \Pr(Y \geq k)$. This validates the result.

2) Suppose that $0 < p_1 < p < 1$. Then, from part 2) in Theorem 1 and part 1) in Theorem 2, it is clear that random variables X and Y are not ordered by the usual stochastic order. Also, from the arguments used in the proof of part 1) in Theorem 1, since $p < p_0$ it follows that $\Pr(X = k)/\Pr(Y = k)$ is non-increasing and unimodal, implying that $X \leq_{uv} Y$. The converse part follows by using the similar arguments. □

Theorem 3. Suppose that $p = p_2$. Then,

- 1) $X \leq_{uv} Y$
- 2) $X \leq_{cx} Y$.

Proof.

1) Follows from part 2) in Theorem 2, we have

$X \leq_{uv} Y$, where $p_2 < p_1$.

2) Since $X \leq_{uv} Y$ and

$$E(Y) = \frac{r\theta^3}{(\theta+1)(\theta-1)^2} - r = \frac{r(1-p)}{p} = E(X),$$

by the result of Shaked in [4], $X \leq_{cx} Y$.

Next, We shows some numerical examples of the comparisons between negative binomial random variable

with negative binomial—Lindley random variable in usual stochastic order, likelihood ratio order, convex order, expectation order and uniformly more variable order and the results are provided in **Table 1**.

Then, we explain that negative binomial random variable (X) is smaller than negative binomial—Lindley random variable (Y) in the usual stochastic order implies that $X \leq_E Y$. In addition, if X and Y have respective supports $\text{supp}(X)$ and $\text{supp}(Y)$, such that $\text{supp}(X) \subseteq \text{supp}(Y)$ and the ratio $\Pr(X = k)/\Pr(Y = k)$ is a unimodal function over $\text{supp}(Y)$ but X and Y are not ordered in the usual stochastic order. Furthermore, if X and Y have a same mean. Then $X \leq_{uv} Y$ implies that $X \leq_{cx} Y$.

4. Conclusion

This paper shows stochastic orders comparison of negative binomial random variable with a negative binomial—Lindley random variable by usual stochastic order, likelihood ratio order, convex order, expectation order and uniformly more variable order. Some advantages of stochastic orders comparison between negative binomial random variable and negative binomial—Lindley random variable are as follows: If negative binomial random variable (X) is smaller than negative binomial—Lindley random variable (Y) in the usual stochastic order. Its usefulness is that it gives a simple sufficient condition for X is smaller than Y in the expectation order. Next, if $\text{supp}(X) \subseteq \text{supp}(Y)$ is that it implies that the ratio $\Pr(X = k)/\Pr(Y = k)$ is a unimodal function over $\text{supp}(Y)$ but X and Y are not ordered in the usual stochastic order. Finally, If X and Y have a same mean, it is known that X is smaller than Y in uniformly more variable order implies that X is smaller than Y in convex order. This conclusion is supported by numerical examples.

5. Acknowledgements

We are grateful to the Commission on Higher Education, Ministry of Education, Thailand, for funding support under the Strategic Scholarships Fellowships Frontier Research Network.

REFERENCES

- [1] W. Rainer, "Econometric Analysis of Count Data," 3rd Edition, Springer-Verlag, Berlin, 2000.
- [2] H. Zamani and N. Ismail, "Negative Binomial—Lindley Distribution and Its Application," *Journal of Mathematics and Statistics*, Vol. 6, No. 1, 2010, pp. 4-9.
[doi:10.3844/jmssp.2010.4.9](https://doi.org/10.3844/jmssp.2010.4.9)
- [3] M. Shaked and J. G. Shanthikumar, "Stochastic Orders," Academic Press, New York, 2006.
- [4] S. M. Ross, "Stochastic Processes," Wiley, New York, 1983.
- [5] N. Misra, H. Singh and E. J. Harner, "Stochastic Comparisons of Poisson and Binomial Random Variables with Their Mixtures," *Statistics and Probability Letters*, Vol. 65, No. 4, 2003, pp. 279-290.
[doi:10.1016/j.spl.2003.07.002](https://doi.org/10.1016/j.spl.2003.07.002)
- [6] M. Shaked, "On Mixtures from Exponential Families," *Journal of the Royal Statistical Society: Series B*, Vol. 42, No. 2, 1980, pp. 192-198.
- [7] M. Shaked and J. G. Shanthikumar, "Stochastic Orders and Their Applications," Academic Press, New York, 1994.
- [8] H. Singh, "On Partial Orderings of Life Distributions," *Naval Research Logistics*, Vol. 36, No. 1, 1989, pp. 103-110.
[doi:10.1002/1520-6750\(198902\)36:1<103::AID-NAV3220360108>3.0.CO;2-7](https://doi.org/10.1002/1520-6750(198902)36:1<103::AID-NAV3220360108>3.0.CO;2-7)